

## Lexington-Fayette Urban County Government LEASE PURCHASE SCHEDULE NO. 810-6705564-013 TO MASTER LEASE AGREEMENT NO. 6705564

THIS SCHEDULE IS SUBJECT TO AND INCORPORATES THE TERMS AND CONDITIONS OF MASTER LEASE AGREEMENT NO. 6705564 ("Agreement") DATED January 2, 2014 BETWEEN DELL FINANCIAL SERVICES L.L.C. ("Lessor") AND Lexington-Fayette Urban County Government ("Lessee").

Lessor hereby agrees to lease and/or make available to Lessee subject to the terms, conditions and provisions set forth in this Schedule and in the Agreement, the Products described below. Any capitalized term used herein and not defined herein shall have the meaning ascribed to it in the Agreement.

PRODUCT DESCRIPTION AND LOCATION: See below or Exhibit "A" attached to and made a part hereof.

PRODUCT SELLER: Step Cq. LLC, 525 W, 5th St., Ste, 332, Covington, KY 41011

I ICODOGI OLLLLIC.	otop og, LLO, ozo it	ton, iti <del>4</del> 1011			
<u>Product</u>	Product	Lessee Purchase	Primary Term	Commencement	
<u>Description</u>	<u>Location</u>	Order No.	(Mos.)	<u>Date</u>	
See Exhibit 'A'	See Exhibit 'A'	TBD	48	6/1/2020	

Rent is payable: in Advance

Payment Period: Quarterly

#### LEASE PURCHASE PROVISIONS

The following provisions shall apply with respect to this Schedule in addition to those provisions in the Agreement:

#### SECTION 4. RENT; TAXES; PAYMENT OBLIGATION.

Insert as a new last sentence to subsection (a) the following:

"For the purposes of this Schedule, the Rent, as well as the principal and interest portions of each Rent payment and the Purchase Price as of the applicable Purchase Date are shown in the chart provided on Exhibit "B", attached to and made a part hereof.

### 2. SECTION 11. REPRESENTATIONS AND WARRANTIES OF LESSEE.

For purposes of this Schedule, add paragraphs (j) through (t) as follows:

- "(j) Lessee will comply with the information reporting requirements of Section 149(e) of the Code, including but not limited to, the execution and delivery to Lessor of information statements requested by Lessor;
- (k) Lessee will not do, cause to be done or fail to do any act if such act or failure to act will cause this Agreement, or any transaction hereunder, to be an Arbitrage Bond within the meaning of Section 148 of the Code or a Private Activity Bond within the meaning of Section 141 of the Code;
- (I) The total cost of the Products listed in this Schedule will not be less than the total Principal Portion of the Rent listed in this Schedule; :
- (m) The Products listed in this Schedule have or will be ordered within six months of the date hereof in order to commence such Schedule:
- (n) The Products listed in this Schedule are expected to be delivered and installed, and the Seller fully paid, within one year from the date hereof:
- (o) No fund or account which secures or otherwise relates to the Rent has been established;

- (p) Lessee will not sell, encumber or otherwise dispose of any property comprising this Schedule prior to the final maturity or termination of such Schedule without a written opinion of nationally recognized bond counsel to the effect that any such disposition will not adversely affect the exclusion of interest on the Rent from gross income for federal income tax purposes;
- (q) Lessee agrees to execute, deliver and provide Lessor with satisfactory evidence of the filing of such documentation, as may be required for the purposes of properly reporting this Schedule, including, without limitation, IRS forms 8038-G or 8038-GC, as required under the Code;
- (r) It is expected that Rent under this Schedule will be paid from periodic appropriations of the Lessee deposited into the general fund of the Lessee, that such appropriations will equal the Rent due during each Fiscal Period of Lessee, and that all amounts paid for Rent will be from an appropriation made by the Lessee during the Fiscal Period in which such Rent is made;
- (s) To the best of Lessee's knowledge, information and belief, the above expectations are reasonable; and
- (t) Lessee will comply with all applicable provisions of the Code, including without limitation Sections 103, 141 and 148 thereof, and the applicable regulations of the Treasury Department to maintain the exclusion of the interest components of Rent from gross income for purposes of federal income taxation.

Without limiting the generality of the foregoing, Lessor hereby gives notice to Lessee that, upon execution of this Schedule by Lessor, Lessor shall assign all of its right, title and interest in, to and under this Schedule, including all Products and all payments owing under such Schedule, to Dell Equipment Funding L.P. ("DEF") pursuant to a purchase agreement between the Lessor and DEF. Lessee hereby acknowledges and consents to such assignment and shall keep, or cause to be kept, a complete and accurate record of all such assignments in a manner and form necessary to comply with Section 149(a) of the Code and the Treasury Regulations promulgated thereunder. Lessor hereby directs Lessee to continue to make any and all payments required to be made under this Schedule directly to Lessor, as servicing agent for DEF, at the same address to which Lessee is currently making payments unless and until Lessor is directed by DEF to make such payments to a different address or payee."

TO THE EXTENT PERMITTED BY LAW, AND WITHOUT WAIVING ANY DEFENSE AVAILABLE TO IT AS TO THIRD PARTIES, AND IN ADDITION TO LESSEE'S OBLIGATION UNDER SECTION 16 OF THE AGREEMENT AND ANY AMENDMENTS THERETO, LESSEE HEREBY ASSUMES LIABILITY FOR, AND SHALL PAY WHEN DUE, AND SHALL DEFEND LESSOR AND ITS SUCCESSORS AND ASSIGNS AGAINST, ANY AND ALL LIABILITIES, LOSSES, DAMAGES, CLAIMS AND EXPENSES (INCLUDING REASONABLE ATTORNEY FEES) RELATING TO OR ARISING OUT OF LESSEE'S BREACH OF ANY OF ITS REPRESENTATIONS, WARRANTIES, OR COVENANTS CONTAINED IN SECTION 11 OF THE AGREEMENT AS SUPPLEMENTED HEREIN.

3. SECTION 12. WARRANTY ASSIGNMENT; EXCLUSION OF WARRANTIES; LIMITATIONS ON LIABILITY; FINANCE LEASE.

For purposes of this Schedule, delete "FINANCE LEASE" in the title of this Section and delete the first and last sentences of paragraph (d).

### 4. SECTION 17. OWNERSHIP; LIENS AND ENCUMBRANCES; LABELS.

Insert at the end of this paragraph the following: "Notwithstanding the first sentence of this Section, upon Lessee's acceptance of the Products under this Schedule, title to the Products shall vest in Lessee subject to Lessor's rights under the Agreement; provided that, upon an Event of Default or any termination of this Schedule, other than by Lessee's purchase of the Products, title to the Products shall immediately and without any action by either party vest in Lessor, and Lessee shall immediately surrender possession of the Products to Lessor. Any such transfer of title shall occur automatically without the necessity of any bill of sale, certificate of title or other instrument of conveyance. Lessee shall, nevertheless, execute and deliver any such instruments as Lessor may request to evidence such transfer.

#### 5. PURCHASE OPTION.

Provided that no Event of Default has occurred and is continuing, and upon satisfaction of all payment obligations herein by Lessee, Lessee shall be entitled to Lessor's interest in the Products, AS IS, WHERE IS, WITHOUT WARRANTY OR RECOURSE, EXPRESS, IMPLIED OR OTHERWISE, BY OR AGAINST LESSOR, INCLUDING ANY WARRANTIES OF

DESIGN, MERCHANTABILITY, FITNESS FOR A PARTICULAR PURPOSE, OR AGAINST INFRINGEMENT, other than the absence of any liens by, through or under Lessor.

As continuing security for Lessee's obligations hereunder, Lessee hereby grants to Lessor, a first-priority security interest in all of Lessee's rights and interest in and to the Products and all proceeds thereof, free and clear of all security interests, liens or encumbrances whatsoever.

**6. COMPLETION OF SCHEDULE:** Lessee hereby authorizes Lessor to insert or update the serial numbers of the Products from time to time as necessary.

If Lessee delivers this signed Schedule, any amendment or other document related to this Schedule or the Master Lease (each a "Document") to Lessor by facsimile transmission, and Lessor does not receive all of the pages of that Document, Lessee agrees that, except for any pages which require a signature, Lessor may supply the missing pages to the Document from Lessor's database which conforms to the version number at the bottom of the page. If Lessee delivers a signed Document to Lessor as an e-mail attachment, facsimile transmission or by U.S. mail, Lessee acknowledges that Lessor is relying on Lessee's representation that the Document has not been altered. Lessee further agrees that, notwithstanding any rule of evidence to the contrary, in any hearing, trial or proceeding of any kind with respect to a Document, Lessor may produce a tangible copy of the Document transmitted by Lessee to Lessor by facsimile or as an e-mail attachment and such signed copy shall be deemed to be the original of the Document. To the extent (if any) that the Document constitutes chattel paper under the Uniform Commercial Code, the authoritative copy of the Document shall be the copy designated by Lessor or its assignee, from time to time, as the copy available for access and review by Lessee, Lessor or its assignee. All other copies are deemed identified as copies of the authoritative copy. In the event of inadvertent destruction of the authoritative copy, or corruption of the authoritative copy for any reason or as the result of any cause, the authoritative copy may be restored from a backup or archive copy, and the restored copy shall become the authoritative copy. At Lessor's option, this electronic record may be converted into paper form. At such time, such paper copy will be designated or marked as the authoritative copy of the Document.

By signing below, each of the parties hereto agrees to be bound by the terms of the Agreement, this Schedule and the attached Exhibits "A" and "B".

Lexington-Fayette Urban County Government "Lessee"	DELL FINANCIAL SERVICES L.L.C. "Lessor"
By:	Ву:
Name: Linda Gorton	Name: Karri Vodicka, vice President
Title:	Title:
Date: (0/23/2020)	Date: REVIEWED  By Janice_Reed at 3:00 pm, May 25, 2020

# **EXHIBIT A**

# STEPcg

Lexington Fayette Urban County Government Attn: Mike Nugent

## **PALO ALTO FIREWALL REFRESH**

2/13/20

Part Number	Description	Unit List	Discounted Price	Qty.	Price
Marin Land And Te	PA-3220 Next Gen Firewalls	The Marketon	SOLO SAUGUIA	TOT WOTEN	
PAN-PA-3220	Palo Alto Networks PA-3220	\$18,900.0	\$15,875.0	2	\$31,750.0
PAN-SVC-PREM-3220-3YR	Premium support 4-year prepaid, PA-3220	\$10,933.3	\$10,933.3	2	\$21,866.6
PAN-PA-3220-WF-3YR-HA2	WildFire subscription 4-year prepaid for device in an HA pair, PA-3220	\$8,933.3	\$7,500.00	2	\$15,000.0
PAN-PA-3220-URL4-3YR-HA2	PANDB URL Filtering subscription 4-year prepaid for device in an HA pair, PA-3220	\$8,933.3	\$7,500.00	2	\$15,000.0
PAN-PA-3220-TP-3YR-HA2	Threat prevention subscription 4-year prepaid for device in an HA pair, PA-3220	\$8,933.3	\$7,500.00	2	\$15,000.0
PAN-PA-3220-GP-3YR-HA2	GlobalProtect subscription 4-year prepaid for device in an HA pair, PA-3220	\$8,933.3	\$8,095.00	2	\$16,190.0
PAN-SFP-PLUS-CU-5M	SFP+ form factor, 10Gb direct attach twin-ax passive cable with 2 transceiver ends a 5m of cable permanently bonded as an assembly, IEEE 802,3ae 10GBASE-CR compliant	\$500,00	\$325.00	1	\$325.0
PAN-PA-2RU-RACK4	Palo Alto Networks PA-3220, PA-3250, and PA-3260 4 post rack mount kit	\$150.00	\$ \$135:00	2	\$270.0
			Sub-Total		\$115,401.66
W V To In 194 V To In 194	PA-3260 Next Gen Firewalls	THE SECTION	IEEE STANCON	1	7 7 7 8 9 1 PM 9 9 1
PAN-PA-3260	Palo Alto Networks PA-3260 with redundant AC power supplies	\$36,000.0	\$26,500.0	2	\$ 53,000.0
PAN-PA-3260-TP-3YR-HA2	Threat prevention subscription 3 year prepaid for device in an HA pair, PA-3260	\$17,866.6	\$16,250.0	2	\$ 32,500.0
PAN-SVC-PREM-3260-3YR	Premium support 3-year prepaid, PA-3260	\$18,433.3	\$18,433.3	2	\$ 36,866.6
PAN-PA-2RU-RACK4	Palo Alto Networks PA-3220, PA-3250, and PA-3260 4 post rack mount kit	\$150.00	\$135.00	2	\$ 270.0
			Sub-Total		\$ 122,636.66
		27 7 34 7		PATO JE	TOTAL
	Hardware & Software				\$ 238,038.32
	Installation				\$50,000.00
	PROJECT TOTAL				\$ 288,038.32